

2024 Product Line



White Pine:



Rough Siding:

1x10x8' through 16' Eastern White Pine - STK - 13/16" - S1S2E

(85 pcs/unit pulled to length)

- Standard Rough Pattern
- "Acadia" Deep Texture Rough Pattern
- "Band Face" Horizontal Rough Pattern
- Ship Lap and Center Match available



Pattern Stock:

1x6x8' through 16' Eastern White Pine - STD - 3/4" - T&G

(Pulled to length units and 1000bdft mixed tallies)

- WP4/WP4
- WP4/WP18
- WP4/EBCB
- #106 Drop Siding



1x8x8' through 16' Eastern White Pine - STD - 3/4" - T&G

(Pulled to length units and 1000bdft mixed tallies)

- WP4/WP4
- WP4/WP18
- WP4/EBCB
- #106 Drop Siding



Pre-Finished:

Johnson Lumber Mill: "Johnson Pine"

1x6 and 1x8 End Matched & Prefinished Eastern White Pine
Std&Btr - 3/4" - WP4 T&G

(Clear finish and colors available - 1,000 bdft / unit) (Absolutely beautiful material – near zero waste)

SPF / Premium Euro Framing Lumber:

2x3, 2x4 & 2x6:

- Available in 6', 7' and 8' through 16'
- Cut to length and PET lengths also available
- #2&btr Premium Euro
- "No Stamp" Premium Euro
- Std&btr Premium Euro
- "No Prior Select" #2&btr
- 2x8, 2x10, 2x12 Available
- SYP Framing lumber (treated and not treated) Available

















Pressure Treated Lumber:

Framing Lumber:

- 2x4x8' through 16' SYP #2 Treated (above ground)
- 2x4x8' through 16' SYP #3 Treated (above ground)
- 2x6x8' through 16' SYP #2 Treated (above ground)

Timbers:

- 4x4x10' through 16' SYP #2 Treated (ground contact)
- 4x4x10' through 16' SYP #3 Treated (ground contact)
- 4x6x8' through 20' SYP #2 Treated (ground contact)
- 6x6x8' through 20' SYP #2 Treated (ground contact)

Ramp & Decking Material:

 5/4x6 x 10', 12', & 16' SYP Radius Edge Decking No Grade Stamp - Treated (above ground)

Notes:

Cut to length available

Arauco Primed Trim & Siding:



Trim:

- 1x2, 1x3, 1x4, 1x6 Primed, Pressure Treated KDAT Trim
- 100% finger jointed Radiata Pine -Primed on 4 sides.
- 21/32" thickness all sizes 16' in length.
- Reversible profile:S1S2E rough-sawn face with smooth back and sides. Edges eased for improved paint adhesion.
- 30-year factory warranty on pressure treated material.

Trim Details	Units / Truck	Pcs / Unit	Pcs / Truck	bdft/pc	bdft / Truck
1x2 Treated	14	780	10920	2.667	29124
1x3 Treated	17	448	7616	4.000	30464
1x4 Treated	17	330	5610	5.333	29918
1x6 Treated	19	196	3724	8.000	29792
1x3 Un-treated	17	448	7616	4.000	30464

Siding:

- 1/2" (12mm) x 4x8 Primed T1-11 Siding 8" o.c. pattern & medium groove depth - 39ppu
- 3/8" (9mm) x 4x8 Primed Siding Panel
 No groove style (shallow groove available) 53ppu
- Primed B/C grade rough textured face w/ 4 primed edges Ship-lap on the long edge - C+ grade smooth sanded back.
- 25-year factory warranty against de-lamination.



Plywood / OSB:

Brazilian Pine Plywood (Nobre/G13): (100% pine veneers)

- 1/2" (12mm) x 4x8 C+C Brazilian Pine SqEdge:75ppu
- 1/2" (12mm) x 4x8 B/C Brazilian Pine SqEdge:75ppu
- 5/8" (15mm) x 4x8 B/C Brazilian Pine SqEdge: 60ppu
- 3/4" (18mm) x 4x8 B/C Brazilian Pine SqEdge: 50ppu

Sanded A/C Plywood (Arauco): (Fully Composed Core)

- 1/2" (12mm) x 4x8 B/C Radiata Pine SqEdge:80ppu
- 5/8" (15mm) x 4x8 B/C Radiata Pine SqEdge:65ppu
- 3/4" (18mm) x 4x8 B/C Radiata Pine SqEdge:54ppu
- 3/4" (18mm) x 4x8 B/C Radiata Pine T&G:54ppu

Domestic Plywood (Roy O. Martin):

- 5/8" (19/32") x 4x8 B/C SYP SqEdge: 33ppu
- 5/8" (19/32") x 4x8 CDX SYP SqEdge: 66ppu
- 3/4" (23/32") x 4x8 Underlayment SYP T&G SmartCore® Sturd-I-Floor 55ppu



Pressure Treated Plywood:

- 3/4" (23/32") x 4x8 B/C SYP SqEdge (Roy O. Martin) MCA Pressure Treated Above Ground / KDAT 55ppu
- 5/8" (19/32") x 4x8 CDX/Rtd. Sheathing SYP (Scotch) MCA Pressure Treated Above Ground / KDAT 58ppu
- 3/4" (23/32") x 4x8 CDX/Rtd. Sheathing SYP (Scotch) MCA Pressure Treated Above Ground / KDAT 48ppu
- 3/4" (18mm) x 4x8 B/C Brz. Pine SqEdge (Nobre/G13) .40CCA Pressure Treated - Ground Contact / KDAT - 50ppu
- 5/8" (15mm) x 4x8 B/C Brz. Pine T&G (Fuksa) .40CCA Pressure Treated - Ground Contact / KDAT - 60ppu

OSB:

Roof & Wall Sheathing:

- 7/16" x 4x8 SqEdge (Weyerhauser)
 APA Rated, Edge Sealed w/ Nailing Lines
- 7/16" x 4x8 SqEdge (West Fraser)
 Industrial / Cost-Efficient no edge seal or nail lines

T&G Floor Panels:

- 19/32" or 22/32" x 4x8 "Edge Gold" T&G (Weyerhauser)
 APA Rated, Edge Sealed w/ Nail Marks 50 Year Warranty
- 19/32" or 22/32" x 4x8 "CoreDeck" T&G (West Fraser) Industrial / Cost-Efficient – no edge seal or nail lines





About Us:

EDK Group, LLC was founded nearly a decade ago by a father & son team of lumber industry veterans who saw a need for a wholesale lumber distributor to provide a level of customer service that was hard to find from the "big guys".

We have a long-term business perspective, and we believe that "A good name is better than great riches" (Prov 22:1). We work hard every day to live up to that standard by keeping our commitments and delivering the best value possible to our customers.

Our primary customer segments are wholesale (tax exempt) users of lumber products:

- Shed, Gazebo, & Craft Manufacturers
- Independent Lumber Yards & Suppliers
- Industrial Packaging Companies
- Cabin & Mobile Home Manufacturers

Thank you for taking time to learn about EDK Group, LLC. We look forward to working with you! -The EDK Team,

Contact Us:

Office: 226 Gap Road - Suite 5 - 2nd Floor - Ronks, PA 17572

Office Phone: (717) 401-5200 FAX (717) 423-3427

Email us: Sales@EDKLLC.com

www.EDKLLC.com

Sales Contact: Colin West: mobile (717) 575-7788

Beth Charlin Will